12858 (H .
RSB (B) OL—R JEREREMD  1500M e
5 |22 e sqnrsq | E8 | g - smy | x| my e < S
E|w| =& 6z FIL G g;jj wix | 47ARR| BiHg |T® | 2% |sE | B0 B 235
INDRIEE 10.493 f‘;? A2 0033 |17l1elal 10 7 | 1 | o |wmF2 |2-4-1
172cm 72kg 461 1174y | 2 ' 7 | 11 9 |&#F2 [2-3-2
=
BN 10.717 ?Jﬁeﬁ s2 10157 lololol @] O 9| 5 [ELFt [3-5:1
173cm  75kg 1161 o5 | B2 ' 6 | 8| 5 |17 |Ri#G3 |6-4-9-2
IR EFE=E 10.726 ;? S1 10244 |2202111al @ | 3| 0| O |[EwF1 |7:5-2
180cm 90kg 1261 111y | 28 ' 8 | 4 | 4| 24 |H#tG3 |3-3-8-9
ED IES 10.771 gij%;_ S2 0422 lololol O 1| 4|4 |s®mr 1-55
181cm 79g 1441 o5y | E#E ' 2 | 7 (10] 15 |FF1 |2:3-&
z=
HFZARR 11.063 *ig;;” S1 0580 lololol O] 0] 4| 2 [gmF (456
173cm 80kg 2141 4y | B2 ' 4 | 2 | 8 | 25 |Ki#G3 |3-3-7-3
R TE 11.132 ﬁ; A2 g855 |ololol O 9| 6|5 |piste [6-55-2
176cm 77kg 2341 ooz | B2 ' 4 | 7| 5 |13 |FEF |1-5-5

MRFYF (1. 258 8) TRRITHFI BB (R ISIRRIT1 2857 &R51)




